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X:(1000)UBHSH A Y] 2+:(1200) LB A H 8 (1240) E R MIE: (1242) REXI B & 2 2 KIMIE : (210) B R AFYS SRR
Of &b of l @ o = p) x
I 2 S MIE. NIMIE 2 O]l &b oM E
200 [=2 33,220 & 675,000 Xl 0 0]
AR O] AF 2,320,606 1,612,386 708,220| [2| 0 2 m} 0 ]
210 [=2 33,220 & Xl 0 = 0]
BXALY 507,406 474,186 33,220 [JI 0 = m] 0 ]
201
U2 A Y| 80,220 51,400 28,820
80,220 51,400 28,820(01 L2 A Y|
oAU UBI2AY| = 28,820
(=) 28,820
202
o gl 24,400 20,000 4,400
24,400 20,000 4,400(01 2LH0IHI
oADIY AREX I 40,0009 x 1% x 108 = 4,400
(=) 4,400
220
Xt HIAHES 1,813,200 1,138,200 675,000
201
UBr2 A Y| 550,000 310,000 240,000
550,000 310,000 240,000|01 LBteYH|
o2 -2 L HE E AE DY BEE = 240,000
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= P o 5
oo - i At = p ES
.2 g Mg MM = ALl = & <9
307
0I2+0| & 58,200 23,200 35,000
35,000 0 35,000(02 QI2HA AR X
CELOANSYHUHHES LA 35,000
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T EHRI S 600,000 200,000 400,000
=20l &
600,000 200,000 400,000(01 XHXIEHRIRHE 2 &
oZ=ITXIME X
100,000,00080 x 1094 x 40% 400,000
1243 (2 343,480 & 41,000 X| 0 2 0]
HE 22 1,715,344 1,330,864 384,480 [7I 0 = 0 2 0 ]
100
2 A0l & 518,630 482,630 36,000
120
2 AR A 518,630 482,630 36,000
201
Bt o | 270,720 264,720 6,000
270,720 264,720 6,000/01 LBt
cuBteYl BE= 6,000
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202
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oHEBR YRFE 2= = 30,000
200 [= 343,480 & 5,000 X 0 = 0]
AHS Ol AF 1,196,714 848,234 348,480  [2 0 = 0 0 ]
210 [= 343,480 = 0 X 0 2 0]
BEAY 343,480 0 343,480 [l 0 = 0 0 ]
308
XSRS 343,480 0 343,480
ol &
343,480 0 343,480(01 XX SHHMB AL X2
OXIZAE HE3t 2T H AN (M EH 0 A
858,700,0002 x 40% 343,480
2 343,480
220
Xt AFE 853,234 848,234 5,000
405
XHAHE S| 5,000 0 5,000
5,000 0 5,000(01 KHAIYSZF Sy
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